
Time: 10 Minutes Paper Science 7 Total Marks: 10

1st Month, 3rd Week, 5th Day Syllabus: Aerobic respiration and anaerobic

respiration

Q.No.1 Encircle the correct answer from the following choices. (0.5×6=3)


i. Which of the following is a chemical formula of glucose? 


(a) C3H4O7 (b) C6H12O6 (c) C12H22O11 (d) C6H11O6

ii. Aerobic respiration takes place in:    

(a) Chloroplast  (b) Golgi complex 
(c) Mitochondria  (d) Nucleus 




iii. Which of the following is formed during anaerobic respiration in yeast?

 
 

(a) Methanol  
 (b) Ethanol  

 (c) Propanol  (d) Pentanol  



iv. Which of the following converts lactic acid into glucose?

 
(a) Stomach  (b) Liver  (c) Heart  (d) Kidney 
v. Anaerobic respiration takes place in the absence of:

 
(a) Hydrogen  (b) Carbon dioxide 
(c) Nitrogen  (d) Oxygen 
vi. Which of the followign is not a product of anaerobic respiration?

 
(a) Ethanol  

 (b) Carbon dioxide 
(c) Energy  (d) Carbon monoxide 
Q.No.2. Write short answers. (224) 
(i) Define aerobic respiraiton.  
(ii) Write down chemical equation of aerobic respiration.

 
Q.No.3. Write long answer. (3) 
(i) Explain anaerobic respiration.  
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